9 = 4

9¥8'0 = PpX

y0-d.286 —+ ¥0-3426'6 = WJION
20-496'¢ —+ 10-496'1 = [A9¥] L
10-de02 -+ £0-400'1 = HN
e1-d2v'8 = xnig
20-329'6 = @jed dads
A9/ AS1auy
001 OoT0
I I _ Frrnr bl I I _ Frrnr 1Tl
— — $-01
— <] 1 — ¢-01
/\
[ I Lo 1 #_v I i1 1

0cIv6E+¥'GSYITar SXU<S

(A93 s zwd)/suojoyd

A3/ K3asuqg

001 010
II_ 1 ____ LI 1 1 1 ____ LI |.I|
NS
3 + | | 4! | 3
w|_ 1 | T A T A R | 1 L1111 Im

A9¥ /ABasuy

001 010
[T T [TTT T T T 1 T [T 1T
- - .
|_ 1 TN 1 [111 11 |
Apqq,wured 00 L¥01€6

MmN - o -
s[enpisay

2-01

1-0T1

(A®¥ s)/syuno)



